
 

 

Table for thickness of test plate: 
SN Initial circular 

scale reading 
(On test plate) 

𝒙 
 

(mm) 

Number 
of 

complete 
rotations 

𝒏 

Final circular 
scale reading 

(On base plate) 
𝒚 

 

(mm) 

Main 
scale 

reading 
 

𝑴 = 𝒏 × 𝑷 
(mm) 

Additional 
circular scale 

reading 
A= 𝒙 − 𝒚 

Or 
A= 𝒙 − 𝒚 + 𝟏𝟎𝟎 

Circular 
scale 

reading 
 

𝑪 = 𝑨 × 𝑳𝑪 
(mm) 

Thickness 
of plate 

 
= 𝑴 + 𝑪 

 
(mm) 

1.        

2.        

3.        

4.        

5.        

6.        

  

∴  𝑇ℎ𝑒 𝑚𝑒𝑎𝑛 𝑡ℎ𝑖𝑐𝑘𝑛𝑒𝑠𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑔𝑖𝑣𝑒𝑛 𝑡𝑒𝑠𝑡 𝑝𝑙𝑎𝑡𝑒 𝑖𝑠: 𝑡 =… … … 𝑚𝑚. 
   

= …………𝑐𝑚 
  

From graph, the area of the given test plate is: 
 

      𝐴 =
஺భା஺మ

ଶ
= ………… 𝑚𝑚ଶ  

 

       = ………….𝑐𝑚ଶ 
CALCULATIONS 
 The volume of the given test glass plate is: 
     𝑉 = 𝐴𝑟𝑒𝑎 × 𝑡ℎ𝑖𝑐𝑘𝑛𝑒𝑠𝑠 
 

     𝑉 = …………………. 
 

    or, 𝑉 = …………. 𝑐𝑚ଷ 
And 

 The density of the given plate is: 

     𝜌 =
௠

௏
 

 
     𝜌 = ……………. 
 

    or, 𝜌 =… … … … 𝑔𝑟𝑎𝑚 𝑐𝑚ିଷ 
PERCENTAGE ERROR 
 For density of glass: 
   Standard value, 𝑆𝑉 = 2.5 𝑔𝑟𝑎𝑚   𝑐𝑚ିଷ 
 

Observed value, 𝑂𝑉 =………… 𝑔𝑟𝑎𝑚   𝑐𝑚ିଷ 


